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¥5 i FEE FEEH iS5 Z1E
1 2014200906 TE* e TRSHEAR A7 IRy 5 98.5
2 2014200922 oo b2 3k & [kl 93.9
3 2014201066 fifr k2 3 5 E 93.3
4 2014200911 Fo* e TRESHEHA 3k ) il 92.0
5 2014200999 gRe* e TRESHEA 3k ) il 88.1
6 2014201024 S TS HA A 7 1ol 86.9
7 2014201064 2k 5 eSS 1 14 86.2
8 2014201071 G 1= A€ [l 82.8
9 2014201016 A = A& [l 82.8
10 2014201070 FE* 1= A& [l 82.6
11 2014201027 FE* e TREEAR A& [l 81.4
12 2014200985 A5 1= A& [l 81.4
13 2014200908 Mg+ 2 THESHEAR A& [l 80.8
14 2014200936 Y* e TREEAR A& [l 80.1
15 2014201029 FE* e TREEAR A& [l 80.1
16 2014200912 F* thZ THESHEA 3 ) sl 79.8
17 2014200980 B 15 A [ ol 79.5
18 2014200964 g TS HA A5 IR 5 79.4
19 2014200959 gk * 12 A [l 79.4
20 2014200984 [ * = A€ [A) 79.3




21 2014200937 g TR SHEAR E| S R 4 79.3
22 2014201010 F* 12 E| S R 4 76.5
23 2014200927 = 12 E| S R 4 75.3
24 2014200917 * TR SHEAR E| S R4 73.9
25 2014200931 Jiti * 12 E| S R 4 73.7
26 2014200944 ZR* TR SHEAR E| S R 4 73.5
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1| 100106110000129 Fhx 24 ACIE 4 82.8
2 | 100106110000136 Fh* = AE € [A] Sk 82.3
3| 100106110000142 Bx e TRSHEAR E| e bin| 4 89.5
4 | 100106110000144 % e TRSHEAR AE € [A] Sk 77.5
5| 100106110000139 % * 2 TR S HEAR E| AT 4 77.0 = R I
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100106110000141 JE] * tETRESHEAR E| S|4 93.0
2 | 100106110000145 * tETRESHEAR E| S|4 89.9
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1 2012016176 Ju* e TRSHEAR | R 4 91.3
2 2012016088 2R* TR SHEAR A€ Ml 88.8
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